
SOLID GSX Enclosure system

SOLID GSX Enclosure system

981000487 1/2B17.09

981000487 1/2B17.09

Power needs control

Power needs control

1
5

0
 m

m

CP 1-1 M     001101451

CP 1.4-1 M     001101452

CP 2-1 M     001101453

CP 3-1 M     001101455

CP 3.8-1 M     001101456

CP 2.2-1 M     001101454

Closed

Open

Closed

Open

Position 1 Position 2

1

2

3

4

5

6

7

8

9

10

11

12

1

2

3

4

5

6

7

8

9

10

11

12

8

2
5

7
5

1
5

0

h=88,5

  basic

TH-S
TH-S

LG-V
h=42,5 mm - 56,5 mm

LG-V5
h=64,5 mm - 96,5 mm

TH-S

Position 3

WP-A WP-UWP-A

1
5

0
 m

m

1
5

0
 m

m

7
5

1
5

0

8

2
5

Closed

Open

Closed

Open

1

2

3

4

5

6

7

8

9

10

11

12

Closed

Open

Closed

Open

1

2

3

4

5

6

7

8

9

10

11

12

Mounting instructionsGB

Montage anleitungDE

Navodilo za montaźoSI

Instrukcje montażuPL

Upute za montaźuHR

Montaźni návodCZ

Navod na montaźSK

Szerelesi utmutatoHU

Montavimo instrukcijaLT

Инструкция за монтажRU

LV

PaigaldusjuhendEST

 CP X-1 M

h=48,5h=48,5

  basic

15 15 15

 for MODULAR DIN-RAIL DEVICES
  (osłony modułowe)

250 mm

350 mm

550 mm

500 mm 950 mm

750 mm

1

2

3

4

5

6

7

8

9

10

11

12

 CP X-1 M

250 mm

350 mm

550 mm

500 mm 950 mm

750 mm

Screwdriver flat-blade
(Wkrętak płaski)

Screwdriver flat-blade
(Wkrętak płaski)

(podstawowy)
(podstawowy)

Mounting instructionsGB

Montage anleitungDE

Navodilo za montaźoSI

Instrukcje montażuPL

Upute za montaźuHR

Montaźni návodCZ

Navod na montaźSK

Szerelesi utmutatoHU

Montavimo instrukcijaLT

Инструкция за монтажRU

LV

PaigaldusjuhendEST

 for MODULAR DIN-RAIL DEVICES
  (osłony modułowe)

Montāžas instrukcija

Montāžas instrukcija

1
5

0
 m

m

Closed

Open

Closed

Open

Position 1 Position 2

1

2

3

4

5

6

7

8

9

10

11

12

1

2

3

4

5

6

7

8

9

10

11

12

8

2
5

7
5

1
5

0

h=88,5

  basic

TH-S
TH-S

LG-V
h=42,5 mm - 56,5 mm

LG-V5
h=64,5 mm - 96,5 mm

TH-S

Position 3

WP-A WP-UWP-A

1
5

0
 m

m

1
5

0
 m

m

7
5

1
5

0

8

2
5

Closed

Open

Closed

Open

1

2

3

4

5

6

7

8

9

10

11

12

Closed

Open

Closed

Open

1

2

3

4

5

6

7

8

9

10

11

12

h=48,5h=48,5

  basic

15 15 15

1

2

3

4

5

6

7

8

9

10

11

12

(podstawowy)
(podstawowy)

90º

90º 90º 90º

90º90º

90º

90º

90º

90º

90º

90º

CP 1-1 M     001101451

CP 1.4-1 M     001101452

CP 2-1 M     001101453

CP 3-1 M     001101455

CP 3.8-1 M     001101456

CP 2.2-1 M     001101454



SOLID GSX Enclosure system

SOLID GSX Enclosure system

981000487 2/2B17.09

981000487 2/2B17.09

Power needs control

Power needs control

1

2

3

4

1

3

4

1

WP-A WP-A WP-U

Position 1 Position 2 Position 3

2

 CP X-1 M

 CP X-1 M

Position 1 - support WP-A

No. Type ETI Name Pcs.

1 LG-V  Support 2

2 AST 4.8x9.5 Tapping screw 4

3 AW-RE 5 Washer M5 DIN9021 Zn 2

4 AS-C 5x10 Screw M5x10 DIN7985 Zn 2

Position 3 - support WP-U

No. Type ETI Name Pcs.

1 AST 4.8x9.5 Tapping screw 2

Position 2 - support WP-A

No. Type ETI Name Pcs.

1 LG-V5 Support 2

2 AST 4.8x9.5 Tapping screw 4

3 AW-RE 5 Washer M5 DIN9021 Zn 2

4 AS-C 5x10 Screw M5x10 DIN7985 Zn 2

Position 1 - support WP-A

No. Type ETI Name Pcs.

1 LG-V  Support 2

2 AST 4.8x9.5 Tapping screw 4

3 AW-RE 5 Washer M5 DIN9021 Zn 2

4 AS-C 5x10 Screw M5x10 DIN7985 Zn 2

Position 3 - support WP-U

No. Type ETI Name Pcs.

1 AST 4.8x9.5 Tapping screw 2

Position 2 - support WP-A

No. Type ETI Name Pcs.

1 LG-V5 Support 2

2 AST 4.8x9.5 Tapping screw 4

3 AW-RE 5 Washer M5 DIN9021 Zn 2

4 AS-C 5x10 Screw M5x10 DIN7985 Zn 2

Screwdriver PH2
(Wkrętak PH2)

AS-C 5x10 2,2-3,5 Nm

AST 4.8x9.5 3,0-3,4 Nm

1

2

3

4

1

3

4

1

WP-A WP-A WP-U

Position 1 Position 2 Position 3

2

Screwdriver PH2
(Wkrętak PH2)

AS-C 5x10 2,2-3,5 Nm

AST 4.8x9.5 3,0-3,4 Nm


